 

Static Electricity ( The accumulation of electrical 

  charges on an object.

· Have you ever walked across the floor and been shocked when you touch someone or a door handle?

( What happens is that atoms in the carpet are disturbed, and gain charges.
Remember ( Atoms are electrically neutral because they have the same number of protons as electrons.



  ( However, atoms can acquire charges by losing or gaining electrons 



 (see “Acquiring Charges” below).

· Thus, you gain electrons from the carpet (becoming negatively charged) and the carpet, likewise, loses electrons (becoming positively charged).

( Some natural examples of static electricity are lightning, and the Northern Lights.

Methods of Charging
1) Friction ( Rubbing two objects together (i.e. rubbing a balloon against a cloth).

2) Conduction ( Direct contact of electrons flowing from one object to another (i.e. metals).

3) Induction ( The rearrangement of electric charges. Some objects (neutral) need no contact with other (charged) objects to acquire a charge through induction.

Insulators

Why is it, that when you touch the cord of an appliance that is plugged into an outlet, that you don’t get shocked?


( The wires of the cord are covered with plastic, which insulates you from flowing electrons.

Examples of Insulators:

wood, plastic, rubber, and glass.

Electroscope  (  Instrument that can detect an 

   electrical charge

· Glass flask containing a metal rod with a knob at the top end and a pair of metal leaves at the bottom inserted through a one-hole rubber stopper
Actual Pictures of an Electroscope



Diagram 1

    Diagram 2

   
    Diagram 3

Explanation of the Diagrams

1. This diagram shows an uncharged electroscope in which the leaves hang straight down.

2. This diagram shows a (-) charged object touching the metal knob in which electric charges travel down the rod and into the leaves.  The leaves spread apart indicating the presence of an electric charge.  Since the charge is the same on both leaves, they spread apart.

3. This diagram shows a (+) charged object touching the metal knob which causes free e- in the leaves & rod to be attracted by the (+) object.  The loss of the e- causes the leaves to become (+) charged.  Since the charge is the same on both leaves, they spread apart.

